q
iR
13
=2
IT
F

SiFIF

ERFISELEG

O TEIFRER

@

InPaninl
[NANZAN|

=

Y21-01 G1/8

Y21-02 G1/4 EC2000
¥31-01 G1/8
Y31-02 G1/4 11 19 86} EC3000
Y41-02 G1/4
S— o 14 24 39 EC4000
Y61-03 G3/8
Veioe s 15 30 50.5 EC5000
el
O LB LE T 4achia]iR
G
Rk Lo "’
o HubE 0
e
G ua 7 | |
N>/ S
=
I Rl
18
%
N
o F N
B AsLEI SRk R L G
B110L EC1000
B210L Y20L 5.5 3 2 75 EC2000
B310L Y30L 35 16 7 4 41 7 1 1 3.5 45 EC2500-EC3000
B410L Y40L 40 22 9 4 50 7 14 45 50 EC4000
B510L Y50L 40 22 9 4 50 7 14 45 50 EC4000-06
B610L Y60L 50 23 12 4 69.8 105 15 6 63 EC5000
1B210L IY20L 24 15 | 545 3 30 5 10 275 33 EIC2000
ILB310L ILY30L 35 16 7 4 41 7 11 35 45 EIC3000i3 888 58 i i& 3=
IRB310L IRY30L 35 16 7 4 41 7 11 SI50 45 EIC3000E £ I 5t 28 %+

EIC4000/50001% FAECE 5l 34 M B 5 3 22

O TR BRAETRZSRHEER

Tz

FRLPILE

TR 22 TR 22 f a1k
B110T Y10T EC1010
B210T Y20T 1 5 515 3 30 10 48 2 75 EC2010
B310T Y30T 35 16 7 4 4 7 11 70 35 45 EC3010
B410T Y40T 40 22 9 4 50 7 14 80 45 50 EC4010
B510T Y50T 40 22 9 4 50 7 14 80 45 50 EC4010-06
B610T Y60T 50 23 12 4 69.8 105 15 100 6 63 EC5010
1B210T 1IY20T 24 15 55 3 30 5 10 48 275 33 EIC2010
IB310T 1Y30T 3 16 7 4 41 7 11 70 35 45 EIC3010

EIC4000/50001&% FAEC % % x4 hz £ 5 37 22



SIEMHE $E-MC

7T Y10 8 EC1000
1 Y20 10 EC2000
- - Y30 11 EC2500 - 3000
; \ Y40 14 EC4000
: FRL AL Y50 14 EC4000-06
A Y60 15 EC5000

B120 2 ER/EW 1000
B220 55 33 5 2 50 5 30 5 33 20 10 15 5 4 2 ER/EW 2000. ER2500
B320 53 40 22 14 64 39 42 25 1.5 8 6.5 3.25 2 ER/EW 3000
B420 70 535 27 18 785 482 52 30 2 105 85 425 2  ER4000 5000 EWA4000 5000
© 40843758
C
D F
A
t M " B
— L
( —= : K [T
) - E] w TS
R I
<| @ — - —F K—— - {— — —_— A\J €} Q£}21
AT 2-¢H al ©
N & ) .
B240 B340~B640
2 EF/EL2000
38 31 2 23 5 5 8 19 3 25 2 M4x8 EF/EL3000
B440 70 54 49 40 30 5.5 47 2 10.5 18.4 8.5 4.25 2 M5X12 EF/EL4000
B540 70 54 49 40 30 55 47 2 10.5 21.5 8.5 4.25 2 M5X12 EF/EL4000-06
B640 0 66 64 52 43 65 60 2 13 29 11 55 2 M5X12 EF/EL5000



